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Map B




Name _______________________________        Date _____________

Practicing Map Skills with Meadowfield Map
Circle the map used:    Map A   or  Map B

Use the proper ordered pair coordinates to answer questions 1 through 6.  Remember the x axis is named first and the second is the Y axis.  Ex: (3,7)

I.    Give the ordered pair coordinates for: 

1.   the location of Cockroach’s and Silverfish’s home.             __(___,___)__     

2.   the home of Book Louse					              __(___,___)__

3.    spillway where The Waters empties in Meadow Pond      __(___,___)__

4.    Scarab the Dung’s rock pile					  __(___,___)__

5.    dried-out streambed that Silverfish crossed                         __(___,___)__

6.    farthest tip of the Tallest Tree branch                                             
        where Silverfish was blown away     __(___,___)__ or	  __(___,___)__


II.   Use the map to answer the following:

7.  If each square in the grid represents the bug-fellow distance of 75 cricket leaps, how many cricket leaps did Silverfish travel to reach the Four Trees That Touch?            			
__________ cricket leaps.

8.   About how many cricket leaps wide is Meadow Pond?

__________ cricket leaps.

8.   The last rays of suntimes end falls behind the Smoking Hills.   
Draw a simple compass rose in the circle on the map below and label the cardinal directions of north, south, east and west.

 

Answer Key: Practicing Map Skills with Meadowfield Map

I.      Ordered pair answers
1.    	Map A(7, A)  or  Map B(7, 1)
2.	MapA(2, A)  or   MapB(2, 1)     this is where most of the house is located
3.	MapA(4, B)  or   MapB(4, 2)
4.	MapA(7, G)  or  MapB(7, 7)
5.	MapA(7, B)  or  MapB(7, 2)    end of stream closest to Silverfish’s home
6.	Two possible answers:  for MapA(4, E) and (5, E);  for MapB(4, 5) and (5, 5)	

II.     Additional questions
7.	450 cricket leaps (6 x 75).  Since the silvery cylinder is at the edge of the   first grid, that grid should be counted as well as the next five to the Four Trees That Touch.
8.	150 cricket leaps (2 x 75)
9.	The sun sets in the west so the compass rose should be as shown:
 (
N
)





Label the compass rose below with the proper cardinal directions:  East; West; South
Then label the intermediate directions:  Northeast; Southwest; Northwest; Southeast

[image: ]

image1.png




image2.emf
Meadow 

Pond

The 

Waters

The Great 

Pasture

The unknown 

Forest

The 

Tallest 

Tree

Four Trees 

That Touch

The Smoking 

Hills

Meadowfield


Microsoft_Office_PowerPoint_Slide1.sldx




Meadow Pond



The Waters





The Great Pasture





The unknown Forest





The Tallest Tree





Four Trees That Touch



The Smoking Hills



Meadowfield









2



image2.jpeg







image3.jpeg









ALY picapowrap ==





Microsoft_Office_PowerPoint_Slide2.sldx




Meadow Pond



The Waters





The Great Pasture





The unknown Forest





The Tallest Tree





Four Trees That Touch



The Smoking Hills



Meadowfield









2



image2.jpeg







image3.jpeg









ALY picapowrap ==





image3.png




